/
KC MI+SETTIMA 2VAeEE/NE R~ E
E 3 B 3
7 X 55/ A H
% oci e =
7 e B 6«4
o
H 7 P \
~ - )
[ o ﬁ /
- = o —— 3| 2| ©
H_Hm o ﬁ _H_ _H_
© ) |5
H49-2 203 =
& 0 IN
b 8] |
70
12
ik X|Y|W|L|E|A |B C|F|H|P|Q|V| U R T| g [l ERS
665KK3BA_SELROAN | 290 | 254 325 [395.7|120.1 {210.1 | 122 | 19.5 | 125|222 | 47.6 | 19 | M10x18| 30.2 | 58.7 |33 | M10x20 | 890 SFM 040 FS2 4701
665KK5BA SELROAN | 330 | 279 | 318 | 350 |431.7]124.9 |219.6 | 122 | 195 | 125 | 22.2 | 47.6 | 19 | M10x18| 30.2 | 58.7 | 33 | M10x20 | 890 SFM 050 FS2 4701
665KK7BA_SDLROAN | 405 | 279 | 318 | 350 |509.7|122.6 |224.6 |124.5| 23 | 125 | 26.2 | 52.4 | 25 | M10x18| 35.7 | 69.9 |38 | M12x18| 890 SFM_063_FS2 5501
665KK7BA_SDLROAN | 405 | 279 | 318 | 350 [509.7|126.6 |232.6 |124.5| 23 | 125|262 | 52.4 | 25 | M10x18| 35.7 | 69.9 |38 | M12x18| 890 SFM 075 FS2 5501
665KK9BB SDLROAN | 485 | 279 | 318 | 350 |581.7]132.1 [243.6 [124.5] 23 | 125|262 | 52.4 | 25 | M10x18| 35.7 | 69.9 |38 | M12x18| 890 SFM 090 FS2 5501
1 <4
A i "EEE 5E | o B
N Yy I\
A | @ TRAABERGHERA q
mm_, .mum _wﬁ W\W,d w@@»ﬂ.«uw_ _m_ M& TECHMATION
R | e | 20171027 |t @1 | 1/4 |88 3 AER| _ B A
ST VLR < A IR R ) 4R @ @ nzr [ 20m g @l mm| ® = |8 | KCIESETTIMA 2V —o




